**ISSN: 1017-060X (Print)** 



ISSN: 1735-8515 (Online)

## **Bulletin of the**

# Iranian Mathematical Society

Vol. 42 (2016), No. 4, pp. 855-859

Title:

A note on inequalities for Tsallis relative operator entropy

Author(s):

L. Zou and Y. Jiang

Published by Iranian Mathematical Society http://bims.ims.ir

Bull. Iranian Math. Soc. Vol. 42 (2016), No. 4, pp. 855–859 Online ISSN: 1735-8515

## A NOTE ON INEQUALITIES FOR TSALLIS RELATIVE OPERATOR ENTROPY

#### L. ZOU\* AND Y. JIANG

(Communicated by Madjid Eshaghi Gordji)

ABSTRACT. In this short note, we present some inequalities for relative operator entropy which are generalizations of some results obtained by Zou [Operator inequalities associated with Tsallis relative operator entropy, *Math. Inequal. Appl.* 18 (2015), no. 2, 401–406]. Meanwhile, we also show some new lower and upper bounds for relative operator entropy and Tsallis relative operator entropy.

**Keywords:** Relative operator entropy, Tsallis relative operator entropy, operator inequalities.

MSC(2010): Primary: 47A63; Secondary: 47B65.

## 1. Introduction

In this note we mainly adopt the notation and terminology in [7]. For convenience, recall that. For two invertible positive operators A and B and  $\lambda \in (0, 1]$ , the Tsallis relative operator entropy  $T_{\lambda}(A|B)$  and the relative operator entropy S(A|B) are defined by

$$T_{\lambda}\left(A|B\right) = \frac{A\#_{\lambda}B - A}{\lambda},$$
$$S\left(A|B\right) = A^{1/2}\log\left(A^{-1/2}BA^{-1/2}\right)A^{1/2},$$

where

$$A \#_{\lambda} B = A^{1/2} \left( A^{-1/2} B A^{-1/2} \right)^{\lambda} A^{1/2}$$

is the wieghted geometric mean.

©2016 Iranian Mathematical Society

Article electronically published on August 20, 2016.

Received: 21 September 2014, Accepted: 9 May 2015.

<sup>\*</sup>Corresponding author.

<sup>855</sup> 

Recently, Zou [7] proved that if a > 0 and  $\lambda \in (0, 1]$ , then for any invertible positive operators A and B, (1.1)

$$(1 - \log a) A - \frac{1}{a} A B^{-1} A \leq -\left(\frac{1 - a^{\lambda}}{\lambda a^{\lambda}} + \log a\right) A + a^{-\lambda} T_{-\lambda} (A|B)$$
  
$$\leq S(A|B)$$
  
$$\leq (\log a) A + T_{\lambda} (A|B) + \frac{1 - a^{\lambda}}{\lambda a^{\lambda}} A \#_{\lambda} B$$
  
$$\leq (\log a - 1) A + \frac{1}{a} B.$$

This is a refinement of the following inequality:

$$(1 - \log a) A - \frac{1}{a} A B^{-1} A \le S(A|B) \le (\log a - 1) A + \frac{1}{a} B,$$

which is due to Furuta [2]. For more information on the Tsallis relative entropy the reader is referred to [1-6] and the references therein.

In this short note, we will present some generalizations of (1.1). Meanwhile, we also show some new lower and upper bounds for relative operator entropy S(A|B) and Tsallis relative operator entropy  $T_{\lambda}(A|B)$ .

### 2. Main results

We begin this section with the following result.

**Theorem 2.1.** Let a > 0,  $\lambda \in (0,1]$  and  $v \in [0,1]$ . For any invertible positive operators A and B, we have

$$S(A|B) \leq \left(v + (1-v) a^{\lambda}\right) T_{\lambda} (A|B) - v \frac{1-a^{\lambda}}{\lambda} A \#_{\lambda} B \\ + \left((1-v) \frac{a^{\lambda}-1}{\lambda} - \log a\right) A.$$

*Proof.* Note that

(2.1) 
$$\frac{(ax)^{\lambda} - 1}{\lambda} = \frac{x^{\lambda} - 1}{\lambda} + x^{\lambda} \frac{a^{\lambda} - 1}{\lambda},$$

(2.2) 
$$\frac{(ax)^{\lambda} - 1}{\lambda} = a^{\lambda} \frac{x^{\lambda} - 1}{\lambda} + \frac{a^{\lambda} - 1}{\lambda}.$$

It follows from (2.1) and (2.2) that

(2.3)  

$$\frac{(ax)^{\lambda} - 1}{\lambda} = v \left( \frac{x^{\lambda} - 1}{\lambda} + x^{\lambda} \frac{a^{\lambda} - 1}{\lambda} \right) \\
+ (1 - v) \left( a^{\lambda} \frac{x^{\lambda} - 1}{\lambda} + \frac{a^{\lambda} - 1}{\lambda} \right) \\
= (v + (1 - v) a^{\lambda}) \frac{x^{\lambda} - 1}{\lambda} \\
+ (v (x^{\lambda} - 1) + 1) \frac{a^{\lambda} - 1}{\lambda}.$$

It is known that for positive real number x, we have

(2.4) 
$$\log ax \le \frac{(ax)^{\lambda} - 1}{\lambda}.$$

Combining (2.3) and (2.4), we have

(2.5) 
$$\log x \le \left(v + (1-v)a^{\lambda}\right)\frac{x^{\lambda}-1}{\lambda} + v\frac{a^{\lambda}-1}{\lambda}x^{\lambda} + (1-v)\frac{a^{\lambda}-1}{\lambda} - \log a.$$

The result

$$S(A|B) \leq (v + (1 - v) a^{\lambda}) T_{\lambda}(A|B) - v \frac{1 - a^{\lambda}}{\lambda} A \#_{\lambda} B + ((1 - v) \frac{a^{\lambda} - 1}{\lambda} - \log a) A.$$

follows from (2.5) by applying the functional calculus  $x = A^{-1/2}BA^{-1/2}$  and then multiplying both sides by  $A^{1/2}$ .

**Remark 2.2.** Putting v = 1 in (2.1), we get the third part of (1.1). Putting v = 0 in (2.1), we have

(2.6) 
$$S(A|B) \le a^{\lambda} T_{\lambda}(A|B) + \left(\frac{a^{\lambda} - 1}{\lambda} - \log a\right) A,$$

which is an upper bound for S(A|B).

**Theorem 2.3.** Let a > 0,  $\lambda \in (0, 1]$  and  $v \in [0, 1]$ . For any invertible positive operators A and B, we have

(2.7) 
$$(v + (1 - v) a^{-\lambda}) T_{-\lambda} (A|B) - v \frac{a^{-\lambda} - 1}{\lambda} A \#_{-\lambda} B - \left( (1 - v) \frac{a^{-\lambda} - 1}{\lambda} + \log a \right) A \leq S(A|B).$$

*Proof.* Substituting x by  $x^{-1}$  and a by  $a^{-1}$  in (2.5), respectively, we have

$$\left(v + (1-v)a^{-\lambda}\right)\frac{x^{-\lambda} - 1}{-\lambda} - v\frac{a^{-\lambda} - 1}{\lambda}x^{-\lambda} - (1-v)\frac{a^{-\lambda} - 1}{\lambda} - \log a \le \log x$$

for all x > 0. The result

$$(v + (1 - v) a^{-\lambda}) T_{-\lambda} (A|B) - v \frac{a^{-\lambda} - 1}{\lambda} A \#_{-\lambda} B - \left( (1 - v) \frac{a^{-\lambda} - 1}{\lambda} + \log a \right) A \leq S (A|B).$$

follows from this last inequality by applying the functional calculus  $x = A^{-1/2}BA^{-1/2}$ and then multiplying both sides by  $A^{1/2}$ . **Remark 2.4.** Putting v = 0 in (2.7), we get the second part of (1.1). Putting v = 1 in (2.7), we have

(2.8) 
$$T_{-\lambda}(A|B) - \frac{a^{-\lambda} - 1}{\lambda} A \#_{-\lambda} B - (\log a) A \leq S(A|B),$$

which is a lower bound for S(A|B).

**Remark 2.5.** It follows from (2.6) and (2.8) that

(2.9) 
$$T_{-\lambda}(A|B) - \frac{a^{-\lambda} - 1}{\lambda} A \#_{-\lambda} B - (\log a) A \\ \leq S(A|B) \\ \leq a^{\lambda} T_{\lambda}(A|B) + \left(\frac{a^{\lambda} - 1}{\lambda} - \log a\right) A$$

Putting a = 1 in (2.9), we have

$$T_{-\lambda}(A|B) \leq S(A|B) \leq T_{\lambda}(A|B),$$

which is due to Furuichi, Yanagi and Kuriyama [1].

**Theorem 2.6.** Let a > 0,  $\lambda \in (0,1]$  and  $v \in [0,1]$ . For any invertible positive operators A and B, we have

(2.10) 
$$A - \frac{1}{a}AB^{-1}A + v\frac{a^{-\lambda} - 1}{\lambda}A\#_{-\lambda}B + (1 - v)\frac{a^{-\lambda} - 1}{\lambda}A \\ \leq (v + (1 - v)a^{-\lambda})T_{-\lambda}(A|B).$$

*Proof.* Substituting  $\lambda$  by  $-\lambda$  in (2.3), we have

(2.11) 
$$\frac{(ax)^{-\lambda} - 1}{-\lambda} = (v + (1 - v) a^{-\lambda}) \frac{x^{-\lambda} - 1}{-\lambda} + (v (x^{-\lambda} - 1) + 1) \frac{a^{-\lambda} - 1}{-\lambda}.$$

For a > 0 and  $\lambda \in [0, 1]$ , we have

(2.12) 
$$1 - \frac{1}{ax} \le \frac{(ax)^{-\lambda} - 1}{-\lambda}, \ x > 0.$$

It follows from (2.11) and (2.12) that

$$1 - \frac{1}{ax} + v \frac{a^{-\lambda} - 1}{\lambda} x^{-\lambda} + (1 - v) \frac{a^{-\lambda} - 1}{\lambda} \le \left(v + (1 - v) a^{-\lambda}\right) \frac{x^{-\lambda} - 1}{-\lambda}.$$

The result

$$A - \frac{1}{a}AB^{-1}A + v\frac{a^{-\lambda} - 1}{\lambda}A\#_{-\lambda}B + (1 - v)\frac{a^{-\lambda} - 1}{\lambda}A$$
$$\leq (v + (1 - v)a^{-\lambda})T_{-\lambda}(A|B).$$

follows from this last inequality by applying the functional calculus  $x = A^{-1/2}BA^{-1/2}$ and then multiplying both sides by  $A^{1/2}$ . **Remark 2.7.** Putting v = 0 in (2.10), we get the first part of (1.1). Putting v = 1 in (2.10), we have

$$A - \frac{1}{a}AB^{-1}A + \frac{a^{-\lambda} - 1}{\lambda}A\#_{-\lambda}B \le T_{-\lambda}(A|B),$$

which is a lower bound for  $T_{-\lambda}(A|B)$ . Putting a = 1 in this last inequality, we have

$$A - AB^{-1}A \le T_{-\lambda} \left( A|B \right),$$

which is due to Zou [7].

### Acknowledgments

The authors wish to express their heartfelt thanks to the referees for their detailed and helpful suggestions for revising the manuscript. This research was supported by Scientific and Technological Research Program of Chongqing Municipal Education Commission (No. KJ131122) and Scientific Research Project of Chongqing Three Gorges University (No. 12ZD-17).

#### References

- [1] S. Furuichi, K. Yanagi and K. Kuriyama, A note on operator inequalities of Tsallis relative operator entropy, *Linear Algebra Appl.* **407** (2005), no. 1, 19–31.
- [2] T. Furuta, Furuta's inequality and its application to the relative operator entropy, J. Operator Theory 30 (1993), no. 1, 21–30.
- [3] T. Furuta, Invitation to Linear Operators, Taylor & Francis, London and New York, 2001.
- [4] T. Furuta, Reverse inequalities involving two relative operator entropies and two relative entropies, *Linear Algebra Appl.* 403 (2005), no. 1, 24–30.
- [5] T. Furuta, Two reverse inequalities associated with Tsallis relative operator entropy via generalized Kantorovich constant and their applications, *Linear Algebra Appl.* **412** (2006), no. 2-3, 526–537.
- [6] K. Yanagi, K. Kuriyama and S. Furuichi, Generalized Shannon inequalities based on Tsallis relative operator entropy, *Linear Algebra Appl.* **394** (2005), no. 1, 109–118.
- [7] L. Zou, Operator inequalities associated with Tsallis relative operator entropy, Math. Inequal. Appl. 18 (2015), no. 2, 401–406.

(Limin Zou) School of Mathematics and Statistics, Chongqing Three Gorges University, Chongqing, 404100, P. R. China. *E-mail address:* limin-zou@163.com

(Youyi Jiang) School of Mathematics and Statistics, Chongqing Three Gorges University, Chongqing, 404100, P. R. China.

*E-mail address*: yyy\_j123456@163.com